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(?) Select most appropriate answer for §. 1 to Q.5 and encircle
selected single best option.

(3 Encircle TRUE or FALSE for statement Q. 6 to Q.7

(4) . Read instruction carefully for Q. 8 to Q. 10 and encircle any
gingle answer as A, B,C,D or E against each of these

1 Denominator for calculating erude Death rate 1s

(A) Number of hiving

births

(B) Number of elder people
(C) Midyear population
(I Total number of 65+ age group

2  Leading cause of maternal deaths in India 1s

(A) Anaemia
(B} Haemorrhage
(C) Sepsis

(D) Medical Termination of third trimester pregnancies
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3 Xerophthalmia is considered as a public health problem m a

community if the prevalence of Bitot's spots is more than :

A 1%
(B) 0.5 %
C) 5%
Dy 2 %

4 Eggs are reference protein because of:
{A) High caloric content
(B) Increased protein/100 grams
(C) Increased biological value and +NPLU

() Decreased digestibility coefficient

Which organization mainly works for Children ?
(A) World Bank

(B) Hill Gates and Melinda Foundation

(C) UYNESCO

Dy TUNICEF

=

3 Socially acquired learned behaviour is called Attitudes
TRUE FALSE

Panel discussion can be defined as Stage wise formatted

-

teaching
TRUE FALSE

Select any one of the options(A B C D E) as mentioned below for

A-  if both statements are true and the second statement is
a correct explanation of the first statement

B: if hoth statements are true but the second statement 1s
not a correct explanation of the first statement

- if the first statement is true but the second one is false
Ir if the first statement is false but the second one 18 true

E: if both statements are false
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8 Agricultural worker has nothing to do with oeccupational
health because occupational health is concerned with industry
and industrialized countries only

A B L D E

9 Hypertension is one of the diseases which showed rise in
111::||'I.a|i1_'. over last 3 decades and the rise in mortality 15 due
to ineffective antihypertensive treatment
ABCDE

10 Turners syndrome is not a chromosemal disorder and
Marfan's syndrome is not a Mendelian disease
A B C D E
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